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QUESTION 1

An Informix server is configured with multiple CPU VPs and poll threads and is experiencing NSF lock errors. What
action should be taken to reduce the network shared file lock contention? 

A. Increase the value of MAX_INCOMPLETE_CONNECTIONS. 

B. Increase the value of NUMFDSERVERS and add more poll threads. 

C. Increase the value of NUMFDSERVERS and increase the number of MSC VPs. 

D. Increase the network buffer pool using the IFX_NETBUF_PVTPOOL_SIZE environment variable. 

Correct Answer: B 

 

QUESTION 2

What is the earliest version you can migrate / upgrade directly to Informix 12.10? 

A. 7.30 

B. 8.0 

C. 9.40 

D. 10.0 

Correct Answer: D 

 

QUESTION 3

Which configuration parameter locks the resident and virtual segments of shared memory in operating-system physical
memory? 

A. SHMSEG 

B. SHMBASE 

C. RESIDENT 

D. INFORMIXSHMLCK 

Correct Answer: C 

 

QUESTION 4

Which communication protocol needs additional configuration besides onconfig and sqlhosts? 

A. TLITCP 
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B. IPCSTR 

C. IPCSHM 

D. SOCSSL 

Correct Answer: D 

 

QUESTION 5

"informix_stores" is an established primary server with a SDS server. What is the effect of running the following
command? EXECUTE FUNCTION sysadmin:admin("ha sds clear", "informix_stores"); 

A. Shuts down the primary server and converts the secondary server to be the primary. 

B. Clears the log position of the SDS servers and restarts replication. 

C. Converts the shared disk secondary server to a standard server and shuts down the primary server. 

D. Stops replication to the shared disk secondary servers and converts the primary server to a standard server. 

Correct Answer: D 
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